RHRS s2m Channel [0]

o

RHRS s2m Channel [1]

s000f— Eres T E Tres T8
E Mean 1624 ean 1627
AMS 6321 7000 AMS 8074
2500
E 6000
x0f-  Black: s2mR 5000]
E Red: s2mL
1500 = 4000
E 3000
1000
E 2000
s00 -
E 1000
L s s s s L L s s s
i 7550 7500 7650 700 750 T80 i 7550 7500 7650 700 750 Te00
RHRS s2m Channel [4] RHRS s2m Channel [5]
I
soo00 = Trires T Tres T0505
E Mean 1623 Mean 1628
F AMS 5374 AMS 6.281
50000 = 40000,
40000~
E 30000
30000~ E
E 20000
20000~ F
E 10000 f—
10000~ F
E L L L s L o L L L s L
o 7550 T50 50 700 750 500 550 50 T550 700 50 00
RHRS s2m Channel [8] RHRS s2m Channel [9]
Trres EE Tres e
10000 Mean 1621 16000 = Mear 1628
AMS 1205 AMS 6663
as000 - 14000
30000 12000
25000 10000
20000 8000
15000 6000
10000 4000
5000 2000
L s s s s L L s s s
& 7550 7500 7550 700 7750 T80 i 7550 7500 7550 700 750 00
RHRS s2m Channel [12] RHRS s2m Channel [13]
35000 = Trres 50 Tres GRS
E Mean 1623 22000 = n 1626
30000~ VS 4526 20000 - AMS 9661
E 18000 =
25000~
E 16000 =
20000 = 14000 =
E 12000 F—
15000 = 10000 =
E a000 f—
10000 =
E o
s000F= 4000~
2000 =
L s s s L E L L L s L
o 7550 T50 50 700 750 500 50 TS0 7550 700 750 00

RHRS s2m Channel [2]

RHRS s2m Channel [3]

30000 Ertres 750 50000 F= Eries 555
Mean 1624 o Mean 1628
AMS 7279 E AMS 457
25000 40000~
20000 = F
30000 f—
15000 = E
20000~
10000 F
10000 f—
5000 F
L s s s s o L s s s s
500 7550 7500 7650 700 750 7800 o0 7550 7500 7650 700 7750 T
RHRS s2m Channel [6] RHRS s2m Channel [7]
Ertros TOT r Eries B
70000, Mean 1624 50000 f— Wean 1629
AMS 4.988 o AMS 562
60000 E
40000
50000 E
40000 30000 =
30000 E
20000~
20000 f~ E
E 10000
10000 [ E
E L L L s L o L L L s L
o 550 7500 550 700 BE 50 o 550 750 550 700 70 T
RHRS s2m Channel [10] RHRS s2m Channel [11]
E e TT07 25000 = Tres T
35000 1625 o Wean 1630
AMS 6376 E AMS 654
30000, 20000~
25000 o
15000 f—
20000 E
15000 10000 =
10000 o
s000f—
5000 E
E L L s s s o L s s s s
500 7550 7600 7650 700 750 7800 500 550 7500 7650 700 7750 T
RHRS s2m Channel [14] RHRS s2m Channel [15]
I
25000 = e T 10000 Tres T
E 1625 n Wean 1628
o AMS 466 F AMS 65605
20000 |~ 8000f—
15000 = 6000f—
10000 = 4000~
5000~ 2000}
o L s s L L Ly L s s L
g 7500 7550 00 BE 50 3 = 750 T550 700 70 T




